18FLLTF ZTFIUUTIVAR ZfF 12848 10002 1R2R SF F

RRE—XHGHRIA-HRIA

F1 'R | KB | A% me| = EE| OVAS-AHERFZEEIZLD
1 [ER #E | BESK ol6 1] |o[6 2 2 0[2.8] 1 (3BLREE)
2 |kH BE |ERBEEZX|e|16 o6 3 11[14| 2 |RE B
3 |WE mE | KELS|e[26] [¢[36 02[03] 3 ]#EJ?
4 | | ®E |64
F2 FRoT | BTH | BT |#e&| Bk RE
5 |FBE5T  FR#E  |EResocTEs ol6 1| |o|6 4| |2 0[27] 1 (EETPY) (SRR EHE)
6 |BTH ZF4& | KEEEK |16 o[16| [02[0.1] 3 AT
1B Tz [BERSE%|e[46] [of6 1] 11]16] 2 A/TF =
F3 AR/T| WO | 126 | me|m=|ime 61 tE |60
8 [K/T #1 | KEEEK ol6 4] [o[6 o] [2 0[2.8] 1 =
9 [lhA  EKRE|misucxrEsle|4 6 ol6 1| [11]1.6] 2 X/F sk 164
10 #8348 [ REESK ][0 6] [o[1 6] 02fo1] 3 R E#
F4 AW | BR[| A0 |me|mE|iE: 61 E#F —a
AW @i | BESK ol6 2| [o]6 o] [2 0[2.9] 1 B
12K Fx |HKEEEK |26 o[75| [11[15] 2
13|80 = ERsmLx7Ee|0 6| |5 7| 02[03] 3 it
FS EFE | OB O| B |mk|mEmE 62
14|LF 4B |erssnixrss ol6 0f |o[6 1] |2 0[29] 1
15 (47 =2A|BREEEX |06 e[2 6] [02[01] 3 =
16| 1L gt | REAAEHR |1 6] [o]6 2 11)15] 2 BE
F6 AR | RE | EE |BK(HE|Es 30ret
7|@ER BEEX |[KEA&SEK o[2 6] [o]6 2] [1 1]15] 2 RIE (TR E )
18[HE ZE | BESK [of6 2 o[6 2| |2 0]28] 1 AT
19|=A HiE |[mrsavxrsue]2 6| o2 6] 0 2[o3] 3 RE AJF
F7 L RIEGR A EE 61 :IGT
20 (4 BTEER|ErsaoxTsn o[4 6] [o6 3] [11]15] 2 At
21 |A% #BA |EBREEZX|o6 4 o|6 4| |2 0[26 | 1 S
22 |48 EZ |KEGER[[3 6] [o[4 6] 02fo4] 3
F8 EF | £ | Bl |mmE|Es M
23| E# FiE | BESK o[6 2] [of6 1] [2 o[28] 1 #t 63
24| L% Rliit|ersnckiEie|2 6 o[6 3| |11]15] 2
25| il HmE | KEAGER|e[1 6] [of3 6 0 2[03] 3 L#t
F9 INE | FRIU | BIAE | ek =] et 63
26 [/MiE  IBE  |ERemLxFER ol6 3| |e[4 6] [11]15] 2
27|1FW B | KEEEK |36 e[0 6| [02/02] 3 B4 LM
28 |g11E  F1E | BESR [o[6 4] |6 0f 2 0[28] 1 60
F10 IWE | X& | T | e | N
29 [lUE ¥ BEE ol6 of [o[6 1 2 0[29] 1
30 (K& FEKE| KES S| /0 6 o[16 02f01 (3| A
31 |IUT EifF [mrRssmvxrsi|e[1 6] |o|6 1 111151 2
32 | |



16F LT ZFIUTILR

S+ 12848 13.00i2 1RSF F
XRAE_AHIGHIA-HRIA
G1 M4t | SRR | T | BT |me|mE|Ee OWRI-AHIBFEHIZLD
1 (AR ER | BESR ol6 of [o[6 0] [o[6 of [30[40] 1 (BREREE)
2 |EiE EX |EREHORTH|e[0 6 e|0 6| |e[0 6| |0 3|00 | 4 (@At -
3 [T ME ke [le[o 6| [o]6 0 el06| |12[13]3 HiR Byt
4 |5F & | Temisinc [o]o 6] o6 o] [o[6 o] 2 1[27] 2 o %0
G2 PRIT | Bk | AEAT | mee|me|m R4t &=
5 [B (22 |BERIYST ol6 0| 0|7 6| |2 0[27] 1 Bt |76 (5 R )
6 |#h BE |[EEEHLXTH/0 6 |0 6| |02]/00] 3 o
7 |#&F FfE |TT7HR—LTCle|6 7 o|6 o| 1116 2 BB PR T
G3 B | IWUT | AGRE || m® gt 64 _ Jea
8 |#ifE X8| | EESST ol6 4| [o[6 0 |2 0[28] 1 Fh
9 |IUT #4& | TULSTA |[e|46 o|6 0| |11[16] 2 HIE -FEIOv261
10 [RRE ¥& |mrsmoxzaue|0 6| [¢]0 6 02|00] 3 B (7THEEREE)
G4 A (LN L || x| Ex 62 y
11 |AF ZERr | TULSTA .|4 6| olgo|l |1 1|16 2| LI E-F_U_I‘F
12 |[BE) &=#4 | BESKR |of64 ol6 o| [20[28] 1 - |§
13 [k EW, |meamoxze|o 6| [¢]0 6l 02{00] 3 2 ’ ]E"-F
G5 F e [iif] BiIR || =] iEk 63 60
14 |E@ B |T7R—KTC ol6 3| |o[6 0| |2 of28] 1 ol W
15 |F8  MEfE | REESST |e|36 ol6 0| [11]16] 2 B it (76
16 |B1F @ |mrsmoxzaue|0 6| [o]0 6f 0 2[00 thiE ‘ ]@
G6 RE | Bl 5 mse| s 0Ez | |63 62
17 [PR38R |ERsmoxias o|7 6| o6 1 20[27] 1 By
18 |l EBF [ERIa1=7|e|67 0|6 2 11[16 64
19 |8  #&F | 7ULSTA |[o|1 6| [¢[26 0 2[02 hE ﬁ”"_l_
20 | |




18FLLTF ZFHATILR 24t 12858 90052  SF F
R RA—R W24 - R 148

= "MF; I il AE| A0 BE|HL S| RE AB|BU|BEEL] OVAIAHLBHRZE-LD
LTS BEER (3HLREH)
%‘J*ﬁ g% Eig‘ii’ir o[6 0] |o]6 O] [o[6 O] |3 Of400( 1 . e BE
TSl =1 J: J: )
2 BEH RE [EResORFER °[06 °of8 1 [°]8 9 |2 1|>3] 2 B *J%% 61ﬂ
'L | REE R ;
3 *;fg", ol RESEE o]0 6| [of1 6 ol 2| |1 2[133| 3 £H
T BR*2 ENGE=TETE ~HEIOvH24I
T W L (SREE)
‘lkm mwe| xmami |00 4]0 6 |°]2° oslol 4| |BE KRBT
= Rt& N
P2 w7 TR| B LE|RH K| B | IR 76
JT BB =R
BN DB |ERenokTeR ;: % |
6 s lole 3 ol6 1| |2 of28] 1 1R il £ 25[64
Jp;ﬁ %% E,L%;mw;m& = R Lo
! X FE %E‘%%%% °°6 4" 02013 ?ﬁ# LJI?I?I]; o
| BYIE
P3 W | /M PRT| 5 £l B | | Bk 78
Zn | DEEE G
" lgm %2 | mREA ol of [o]e 1] [20]29)] - wE |
9 INE HE |[ERsmLkTEi R 1
B FEh |messoxzadt|C © o[ T [11]15] 2
4 z= = i = 5
P4 IR LH| L% o]k b wT e s mEEe] g 1
BR EE BUESK
11 B LRI ol6 2| |o|6 2| [o]6 0| |3 0|asz| 1
R FE | BEESK
T8 kit |ERBRLETER
12 h o ]®2 6 o|l6 3| |o|6 1| [2 1|258] 2
WO HikE|ErsmoxzEs
FX A | REEAER L
Bl ma | gmass|?9] [*38 o i A e R
OF ERE |ersaczrsd
“lerm za | mEass|t 8 [ 03jor0] 4




16F LT ZTFXATILR 24+ 12858 1000 F

RRG—AWS 248 - B R 14

Qi B FRE|Ex LT &0 BT| Bk Gk BR|BE|EL] OVAI-A SO EIRNY:
[EE R EEEE ofo o [ofe 1] [ofs of [s ofers| 1| CEERER PETO 26
F ERSMLEFER JT 1~ JC
B (22 [F&ERIISFD FAES] LT lWLF
2 Z77Me|a 6 ol6 3| [ol6 1] |2 1]|262] 2 =
T #% | TULITA R &t 60
3 [BW &R (MEDA=T ol el 6 ole 1| |1 2|14s] 3 B
ﬁ'F g% Tennis.inc ' (BLREE) FE IO VI3
B |REEBWOLTH EF ®l _ &EN
Yl B |mresoxzs]®0 6] [*]T 6] [*]'© 030101 41 |pE =T s
Q2 BAT TR | sen BTRE| AT PH |cee FIF| (B B 75 ®LEN |61
N — B iE
5 Eg Ei@ i;i_ﬂg o6 1| [o|6 3| |o|6 o| |3 0|ss2] 1 A48
% T~
= Z= B B8 = fs
6 %’_‘T;:;“I ;g E%’SE’SE o|l16 o|l6 7| [o|6 1| |1 2[148] 3
=] = EE
S A ] > T
7 gﬁ E?& 7;%‘373? o3 6| [o|7 6 ol 1| |3 ofsss| 2 E’%
EE
ARH A |EREHLORTER
8 |5 minm | meswoarss|0 6| [*1 6| |16 0 3lot0| 4




18F LT BFIUYILAR 24t 12848 8302 1R2R SF F
IRG—AHIGHIA-HR3A
Al hR | B | FE | BB |mx(sEEw] OVAI-AHRIEFEEICLD
1 [hE  fetes| BEEK o6 2| o6 of [2 0[29] 1 (3R EE)
2 (B ME | EREERZE |26 ol 1| [1 115 2 [pE -
3 |FH EH | EREIXE =T
4 e we |ERBEE |eos| [ || | 0 2[00] 3 ﬁﬁ]&
A2 2| | AZEEO| AR BB B thE
5 |2 BAE | PEEK ool [ofi 6] o2loi]s] ms |62 | )
6 |MZED HI% | BREZEZ% (o6 0 ola6| [11]16] 2 INKA
7 |k mAm| BEBEH [of6 1] [of6 4] 2 0[27] 1 INEK K
A3 Fil | RE | & [ m|mE e 64 A& |63
8 [FIL mAm| EREEZ ol6 2| [o[6 3| |2 0[27] 1 I A
9 [%E mE | BESK |26 o5 7| [0 2f0a] 3| T 64| ME g3
10 |[#8 EA | BREEE o3 6] [o[75] 11]15] 2 I::
A4 BIE | T | BE |[m%|mE| R Wt |62
1 |#W@E B3} | EREEZ ol6 2| [o[6 2| [2 of28] 1 ¥m
12| ™% X3 BEE |¢[2 6 ol6 3| [11[15] 2
13|88 EHE |EREEE |o[26] [o[36] 0 2[03] 3 I
Ad BT | AE B[ =BG 64
14 |18 BZ | BRRBEEZ o[2 6] [o]6 1] |1 1]15] 2 RiE
15 |XE BA | BESH |of6 2 ole o| [2 0[29] 1 A& 60
16| #iA | FAEEK o1 6| o]0 6 02013 (TR E )
A6 AR | A | BIE |mK|mE|Es e
17|88 #ME | BREEX ol6 2| [o[6 1] |2 0[28] 1 HF § ka1
18 Il Bixk | BREIX ¢26 |06 02013 )
19 |EE # BESH [o16] [o]6 o 11[15] 2 B4 ;
A7 INA | BFAT | B || | IER 64
20 /A Y| RBSR ol6 1| [o[6 2| |2 0[28] 1
21 (M W3 HEER |e|16 e[2 6| [02/02] 3 /N
22 |[AH B BERBEZ |o|2 6| [o]6 2 11)15] 2
A8 mE | MME | R M| mE|Ek AiE
23 [E%x AF | PEEK o6 4] [o[6 o[ [2 0]26] 1 | % 76
24 |¥2E HE | BREEX |46 o[6 7| |0 2|04 3 (3)
25| W= | BEBRK [e36] |76 11[15] 2 15
A9 BE | R | AT || iEs 60
26 |BHE  fhtk | BESK o[6 o] [o[6 1] [2 o29] 1
27 |HhfE X£F | BEREEZX |e06 ole 3| (11|14 2 | GiE ais
28 [P Bz s | SRITEER |o|1 6] |o[3 6] 02f03] 3 63
A10 AR | ILZ P | FHED| BRI | mse| B | Ete
29 WK PIX | BERBEE o6 2| [o[6 of [o]7 5] [3 0[a7] 1
30 |Lzm 7t BEEH |26 o6 0| [of6 3| |2 1|26 2
31 |Fih%n K BERETIZ |le|06| [¢|06 e[0 6| [0 3|00 4 |Ft
32 BBl skiE | BEEH |e]5 7] |o[3 6] [o[6 of 12]15] 3




16FLLFT BFIUUSILA =4t 12848 12005 1R sF F

JRE—ZAHGHIA-FHRIA

B1 M | K | EH H o (Bx(mEEE) OVAI-AHIBFEEIZLS
1 |%F 8K BES# o|6 1| ol6 3| |ol6 2| |3 0/38] 1 A (3R 7))
2 |[BK f@KX | OneDJr [e|16 ol6 1| |o|6 1| [2 1|26 2 "
3 |/EEH Eih STA e[3 6| [¢[16 o|6 2| [12/14]3 BH— INR
4 |# Bk [rozern|e2 6| [of1 6] [o]2 6] 03[02] 4 N 64
B2 BE | Wit | TE || B=|E: EE
5 |88 %8 [Team<HFE®H o|6 3| ol6 ol |2 0l28] 1 =2 [15
6 [fA7T ERE | K-TENNIS [[e|3 6 ole 2| [11]15] 2 |
TE B | Hke [e|oe| [o]2 6 02/01] 3 =)
B3 BN W | KK || x| et 64
BN IR | PEBRISST | | |
WT Rttt | PULSTA o|8 3 1 T
10 | A#0 BEA ERG o3 g 2 =
B4 Y | &5 B |mek|me|iEe 76
1By Bk |PERIYST ol6 4| [o[6 0o |2 0[28] 1 =y (5)
12 (RS &K MJTC  |e|4 6 ol6 0| |1 1[16] 2
13| gex [x/zemmz]e|o 6 [oo 6 0 2[o0] 3 INR
B5 IMNR | [RE | BT B B=|EE 64
14 /MR IR | RS ol8 1| 1019 1
15 |RE Fi5 | 7ULSTA |[18 0101 2 MR
16 |2 F HZ STA | | ki
B6 INI | S5 | FRIL | mesg | k| ek 60
17 |11 2R ERG o|7 6| [o[6 0] |2 0[27] 1 NI
18 |[§4 {Z# |TT7HR—FTC|e|6 7 o|6 0| |1 1[16] 2
19 [ + one.D.Jr [le[0 6] [o]0 ] 02|o0] 3 seys
B7 By | /NEF | WNIE | HTH | mee] sk 61
20 |#3F BIZ | TULSTA o6 2] o6 1] [o]6 1] [3 ofas] 1
21 /N8y &=E E&X [o]26 o|76| |o[6 4| |2 1|25 2 |
22 |[RE —IE STA o|16| |67 ol6 1| [12[15] 3
23 [trE @3 | BESST |1 6| [o]4 6] [o]1 ] 03o3] 4
OVRI-AHIGHEEICTLDELIRTEEL
REIRKE T | ABYD | I ek m et
9 [ILT Rt | PULSTA o|2 6| [o[2 6] |02]03] 3
1 |&Y & |FERIVST|ol6 2 o|6 2| [20[28] 1
17 |11 S2 %R ERG  [of6 2[ [o]2 6| 1115] 2




18FLLF BFFTILAR

2+ 12850 90052 sF F
YRA—AHIGH 248 - R 1
K1 I ESERE B GH[RE wen| R BE]IE @7?(9—7\'5114%%%‘%!:4:6
e B mmag ool olos| [20[26] 1| nm  CHRER
2 éi;’vﬁ %ﬁ gg‘é% ¢ °[0 6] |02/03] 3 K /jaxﬁ ﬁ%
ZE ME BE=S&K /NE T
S luzm gt | mESH (%26 [98° 11]16)2 63
K2 L EEN IEEE R EE
4 ﬁﬁ E% ﬁ%%? olg 2 1ol1sl 1 -%5&;’1:1‘1’721;1
a8 f BE S ) (BHIREE)
5 %0 A% | R =RE o2 3 0102l 2 3] =8 =8
=Sl BE | EREEX ) A |K# Wzl |Wzr
6 JIKE  HEK EREIE A\EE Eﬁu 64E1E
FH &8 |BEREIXE 62 =W AL
K3 BX RN | B8 A B EE| IR =R AET5
O 2w mx |mee=z|®°° [*° 0203 3 o
K4 R RN e R R
hE ‘i BESK
102&% A E.LEL%’_&% ol6 2| [o|6 1] |2 0]28] 1
AR FH4E | BREZE g
11 AE {%;E ’?J“—I’LT“—L%%% o2 6 o3 6| [02|03] 3 o
arE # BEER
12 ML kiE | BESR o[1 6| [o]6 3 11)14] 2




16FLLTF BFAHATILR 24 12858 1000

1 B0 R hx AM] Tk R |BR|BE| R
=2 B |[FERJIST
' lag B | FULSTA ol e 2029 !
Wit EE | K-TENNIS
2 | Xm A ErG . |1°|1 6 ol7 6| |11]14] 2
% Bk |[k/ZHRFS
S lm mx |ksmmmms|®09] 007 0203] 3
L2 BN BB RE AE| M G| BR|BE| B
H) hE [RERIVSD
4 2R Z%E |Team<HEH ©[6 2| o6 4 120)2.7) 1
N =
5%% jgé gﬁ °[2 6 o[1 6| [02|02] 3
ﬁﬂté]]l, %Zﬂgﬁ &Eii o4 6| |06 1 1116/ 2
3 B MR BB SH|LIT BT|BR|BE| B
FEY SR TN BES#
T InE Bk | BESR o[75| |°6 2| |20]27] 1
I 7S MJTC
156 & |zra—trol’]®’ i A R I
&l
9%; ﬁg 7J§ZTA026 o256 02|03| 3
YRA—AHiGH2 - ER1E
B D ek I EeS A R
=29 BE& [FR&ERIUST
g Be | 7ULSTA ol6 2| [o|7 5| [2 o|2.7] 1
#)I  hrE [RERIYST
4 2R %E |Team<HEH |26 o6 2 1115]2
FEY SR SN BlE S
7 mk | mEsE 057 [°2° 02|04| 3
YRA—AHIGHFEMICKD4LREE
[ PEJOVIMICED  |Bw A AH[BE S [BRBEIE
I\ = —
23@% ?7"‘( KTE%NIS o1 6| [¢|06| [02]01] 3
6;}:%', ggim &E;Ri 0|6 1 ol6 4| |20[27] 1
e X MJTC
8 lon & |zra—tr|®° [7*° i]te) 2




